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NEW QUESTION 1
A systems administrator is tasked with preventing logins from accounts other than root, while the file
/etc/nologin exists. Which of the following PAM modules will accomplish this task?

A. pam_login.so

B. pam_access.so
C. pam_logindef.so
D. pam_nologin.so

Answer: D

NEW QUESTION 2
A Linux engineer receives reports that files created within a certain group are being modified by users who are not group members. The engineer wants to
reconfigure the server so that only file owners and group members can modify new files by default. Which of the following commands would accomplish this task?

A. chmod 775

B. umas

C. 002

D. chactr -Rv
E. chown -cf

Answer: B

NEW QUESTION 3
One leg of an LVM-mirrored volume failed due to the underlying physical volume, and a systems administrator is troubleshooting the issue. The following output
has been provided:

Partial mode. Incomplese voluma groups will pe activatad raad-only

(LY v ttr LSize Origin |Snap% |Move |Log |Copy® [Devices

Ll*tear vg |=wi-a- |[40.00G unknown device(0)

ls::i;e vg |-wi-a- |[40.00G unknown device(5120),/dev/sdal(0)

Given this scenario, which of the following should the administrator do to recover this volume?

A. Reboot the serve
B. The volume will automatically go back to linear mode.
C. Replace the failed drive and reconfigure the mirror.

D. Reboot the serve

E. The volume will revert to stripe mode.

F. Recreate the logical volume.

Answer: B

NEW QUESTION 4
In order to copy data from another VLAN, a systems administrator wants to temporarily assign IP address 10.1.6 5/24 to the newly added network interface
enpls0fl. Which of the following commands should the administrator run to achieve the goal?

A. ip addr add 10.0.6.5/24 dev enplsOfl

B. echo "IPV4_ADDRESS=10.0.6.5/24" > /etc/sysconfig/network-scripts/ifcfg-enplsOfi
C. ifconfig 10.0.6.5/24 enpsIsOfl
D. nmcli conn add Ipv4.address-10.0.6.5/24 ifname enplsOfl

Answer: A

NEW QUESTION 5
An administrator attempts to rename a file on a server but receives the following error.

mv. Cahnhot move

The administrator then runs a few commands and obtains the following output:
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Which of the following commands should the administrator run NEXT to allow the file to be renamed by any user?

A. chgrp reet files
B. chacl -R 644 files
C. chown users files
D. chmod -t files

Answer: D

NEW QUESTION 6

Rugged appliances are small appliances with ruggedized hardware and like Quantum Spark appliance they use which operating system?

A. Centos Linux

B. Gaia embedded

C. Gaia

D. Red Hat Enterprise Linux version 5

Answer: B

NEW QUESTION 7

A systems administrator is implementing a new service task with systems at startup and needs to execute a script entitled test.sh with the following content:

TIMESTAMP=S (date '+%Y-3m-%d %H:3M:%S')
echo "helpme,service: timestamp $(Timestamp)" | systemd-cat -p info

sleep 60

done

The administrator tries to run the script after making it executable with chmod +x; however, the script will not run. Which of the following should the administrator

do to address this issue? (Choose two.)

A. Add #!/bin/bash to the bottom of the script.

B. Create a unit file for the new service in /etc/systemd/system/ with the name helpme.service in the location.

C. Add #!//bin/bash to the top of the script.
D. Restart the computer to enable the new service.

E. Create a unit file for the new service in /etc/init.d with the name helpme.service in the location.

F. Shut down the computer to enable the new service.

Answer: BC

NEW QUESTION 8

A Linux administrator needs to expand a volume group using a new disk. Which of the following options presents the correct sequence of commands to

accomplish the task?

A. partprobe vgcreate Ivextend
B. Ivcreate fdisk partprobe

C. fdiskpartprobe mkfs

D. fdiskpvcreate vgextend

Answer: D

NEW QUESTION 9

Which of the following technologies can be used as a central repository of Linux users and groups?

A. LDAP
B. MFA
C. SSO
D. PAM
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Answer: A

NEW QUESTION 10
At what point is the Internal Certificate Authority (ICA) created?

A. During the primary Security Management Server installation process.
B. Upon creation of a certificate.

C. When an administrator decides to create one.

D. When an administrator initially logs into SmartConsole.

Answer: A

NEW QUESTION 10
Which of the following tools is commonly used for creating CI/CD pipelines?

A. Chef

B. Puppet
C. Jenkins
D. Ansible

Answer: C

NEW QUESTION 15
An administrator recently updated the BIND software package and would like to review the default configuration that shipped with this version. Which of the
following files should the administrator review?

A. /etc/named.conf.rpmnew
B. /etc/named.conf.rpmsave
C. /etc/named.conf

D. /etc/bind/bind.conf

Answer: C

NEW QUESTION 19
After installing a new version of a package, a systems administrator notices a new version of the corresponding, service file was Installed In order to use the new
version of the, service file, which of the following commands must be Issued FIRST?

A. systemctl status

B. systemctl stop

C. systemctl reinstall

D. systemctl daemon-reload

Answer: D

NEW QUESTION 22

An administrator needs to make some changes in the laC declaration templates. Which of the following commands would maintain version control?

A. git clone https://github.com/comptia/linux+-.git git push origin

B. git clone https://github.com/comptia/linux+-.git git fetch New-Branch

C. git clone https://github.com/comptia/linux+-.git git status

D. git clone https://github.com/comptia/linuxt+-.gitgit checkout -b <new-branch>

Answer: D

NEW QUESTION 24

A systems engineer is adding a new 1GB XFS filesystem that should be temporarily mounted under /ops/app. Which of the following is the correct list of

commands to achieve this goal?

A. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg

B. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg
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C. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg
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lvs —--create 1G --name app
mkfs.xfs /dev/ap
mount /dev/app /opt/apt

D. C:\Users\Admin\Desktop\Data\Odt data\Untitled.jpg

lvcreate -L 1G -n app app_Vq
mkfs.xfs /dev/app vg/app
mount /dev/app_vg/app /opt/app

Answer: D

NEW QUESTION 29

Which of the following files holds the system configuration for journal when running systemd?
A. /etc/systemd/journald.conf

B. /etc/systemd/systemd-journalctl.conf

C. lusr/lib/systemd/journalctl.conf

D. /etc/systemd/systemd-journald.conf

Answer: A

NEW QUESTION 34

A systems administrator is tasked with setting up key-based SSH authentication. In which of the following locations should the administrator place the public keys

for the server?

. ~/.sshd/authkeys

. ~l.ssh/keys

. ~/.ssh/authorized_keys
. ~/.ssh/keyauth

o0 w>

Answer: C

NEW QUESTION 36

A junior systems administrator has just generated public and private authentication keys for passwordless login. Which of the following files will be moved to the

remote servers?
A.id_dsa.pem
B. id_rsa

C. id_ecdsa

D. id_rsa.pub

Answer: D

NEW QUESTION 37

Developers have requested implementation of a persistent, static route on the application server. Packets sent over the interface ethO to 10.0.213.5/32 should be
routed via 10.0.5.1. Which of the following commands should the administrator run to achieve this goal?

A. route -i etho -p add 10.0.213.5 10.0.5.1

B. route modify ethO +ipv4.routes "10.0.213.5/32 10.0.5.1"
C. echo "10.0.213.5 10.0.5.1 eth0" > /proc/net/route

D. ip route add 10.0.213.5/32 via 10.0.5.1 dev ethO

Answer: D

NEW QUESTION 41

A junior Linux administrator is tasked with installing an application. The installation guide states the application should only be installed in a run level 5

environment.
$ systemctl get-default
getty.target
Which of the following commands would ensure the server is set to runlevel 5?
A. systemctl isolate multi-user.target
B. systemctl isolate graphical.target
C. systemctl isolate network.target

D. systemctl isolate basic.target

Answer: B
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NEW QUESTION 45
A cloud engineer is installing packages during VM provisioning. Which of the following should the engineer use to accomplish this task?

A. Cloud-init
B. Bash

C. Docker
D. Sidecar

Answer: A

NEW QUESTION 49

A Linux administrator has set up a new DNS forwarder and is configuring all internal servers to use the new forwarder to look up external DNS requests. The
administrator needs to modify the firewall on the server for the DNS forwarder to allow the internal servers to communicate to it and make the changes persistent
between server reboots. Which of the following commands should be run on the DNS forwarder server to accomplish this task?

A. ufw allow out dns

B. systemctl reload firewalld

C. iptables -A OUTPUT -p udp -ra udp -dport 53 -j ACCEPT
D. flrewall-cmd --zone-public --add-port-53/udp --permanent

Answer: D

NEW QUESTION 53
A systems administrator received a notification that a system is performing slowly. When running the top command, the systems administrator can see the
following values:

%Cpu(s): 2.7 us, 1.9 sy, 0.0 ni, 0.4 id, 95 wa, 0.0 hi, 0.0 si 0.0 st

Which of the following commands will the administrator most likely run NEXT?

A. vmstat
B. strace
C. htop
D. Isof

Answer: A

NEW QUESTION 55
A Linux systems administrator needs to copy files and directories from Server A to Server B. Which of the following commands can be used for this purpose?
(Select TWO)

. rsyslog
cp

. rsync

. reposync
. scp

. ssh

TMOUO >

Answer: CE

NEW QUESTION 59
A user is asking the systems administrator for assistance with writing a script to verify whether a file exists. Given the following:

#1/bin/bash

filename=S1

<CONDITIONAL>

echo "Filile exists"

else

echo "File does not exist"™

Which of the following commands should replace the <CONDITIONAL> string?
A. if [ -f "$filename" ]; then

B. if [ -d "$filename" ]; then

C. if [ -f "$filename" ] then

D. if [ -f "$filename" ]; while

Answer: A

NEW QUESTION 63
A Linux administrator is troubleshooting the root cause of a high CPU load and average.
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$ uptime

N e A e AT ' - q = o0y a 3w | ER-T = & 1 L A= =] = ‘] " F { o = -
Urialias up U days, 5 min, 1 user, load average. 2.98, 3.624, J.Z21
5 top

PID USKEE PR NI LET BES SHE $CPU SMEM TIME+ SOMMARND

mtpds & i "L EoAdGE 69 B BC | B F«2AE TE apm]

295 userl 30 -10 65 56465 8254 R 86.5 1.5 7:35.25 appl

5 ps -el qrep userl

Userl we9h 1 1:42:19 tLv/l 06:48:2% /usr/local/bin/appl

Which of the following commands will permanently resolve the issue?

A. renice -n -20 6295
B. pstree -p 6295
C.iostat-cy15

D. kill -9 6295

Answer: A

NEW QUESTION 64
A Linux administrator was tasked with deleting all files and directories with names that are contained in the sobelete.txt file. Which of the following commands will
accomplish this task?

A. xargs -f cat toDelete.txt -rm
B. rm -d -r -f toDelete.txt

C. cat toDelete.txt | rm -frd

D. cat toDelete.txt | xargs rm -rf

Answer: B

NEW QUESTION 69
A Linux administrator created a new file system. Which of the following files must be updated to ensure the filesystem mounts at boot time?

A. letc/sysctl

B. /etc/filesystems

C. letc/fstab

D. /etc/nfsmount.conf

Answer: C

NEW QUESTION 70
A Linux systems administrator needs to persistently enable IPv4 forwarding in one of the Linux systems. Which of the following commands can be used together to
accomplish this task? (Choose two.)

. sysctl net.ipv4.ip_forward

. sysctl -w net.ipv4.ip_forward=1

. echo "net.ipv4.ip_forward=1" >> /etc/sysctl.conf

. echo 1 > /proc/sys/net/ipv4/ip_forward

. sysctl —p

. echo "net.ipv6.conf.all.forwarding=I" >> /etc/sysctl.conf

mTmoOOm>

Answer: BC

NEW QUESTION 75
A Linux administrator needs to remove software from the server. Which of the following RPM options should be used?

A.rpm -s
B.rm-d

C.rpm-q
D. rpm -e

Answer: D

NEW QUESTION 79

A Linux administrator needs to ensure that Java 7 and Java 8 are both locally available for developers to use when deploying containers. Currently only Java 8 is
available. Which of the following commands should the administrator run to ensure both versions are available?

A. docker image load java:7

B. docker image pull java:7

C. docker image import java:7

D. docker image build java:7

Answer: B
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NEW QUESTION 83

A Linux administrator is alerted to a storage capacity issue on a server without a specific mount point or directory. Which of the following commands would be

MOST helpful for troubleshooting? (Choose two.)

A. parted
B. df

C. mount
D. du

E. fdisk
F.dd
G.lIs

Answer: BD

NEW QUESTION 87

A systems administrator is receiving tickets from users who cannot reach the application app that should be listening on port 9443/tcp on a Linux server.

To troubleshoot the issue, the systems administrator runs netstat and receives the following output:

$# netstat -anp | grep appd | grep -w LISTEN
tcp 0 0 127.0.0.1:9443 0.0.0.0:* LISTEN 1234/appd

Based on the information above, which of the following is causing the issue?

A. The IP address 0.0.0.0 is not valid.

B. The application is listening on the loopback interface.
C. The application is listening on port 1234.

D. The application is not running.

Answer: B
Explanation:

The server is in a "Listen" state on port 9943 using its loopback address. The "1234" is a process-id

NEW QUESTION 89
A systems administrator is tasked with creating a cloud-based server with a public IP address.

-name: start an instance with a public IP address

community.abc.ec2 _instance:
name: "public-compute-instance”
key name: "comptia-ssh-key"
vpc_subnet_id: subnet-5cjsshl
instance type: instance.type
security group: comptia
network:

assign_public_ip: true

image 1d: ami1i-12345&8
tags:

Environment: Comptia-Items-Writing-Workshop

Which of the following technologies did the systems administrator use to complete this task?
A. Puppet

B. Git

C. Ansible

D. Terraform

Answer: D

NEW QUESTION 93

A systems administrator wants to be sure the sudo rules just added to /etc/sudoers are valid. Which of the following commands can be used for this task?

A. visudo -c

B. test -f /etc/sudoers

C. sudo vi check

D. cat /etc/sudoers | tee test

Answer: A
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NEW QUESTION 95
A user generated a pair of private-public keys on a workstation. Which of the following commands will allow the user to upload the public key to a remote server
and enable passwordless login?

A. scp ~/.ssh/id_rsa user@server:~/
B. rsync ~ /.ssh/ user@server:.~/

C. ssh-add user server

D. ssh-copy-id user@server

Answer: D

NEW QUESTION 100
A Linux administrator is providing a new Nginx image from the registry to local cache. Which of the following commands would allow this to happen?

A. docker pull nginx

B. docker attach nginx
C. docker commit nginx
D. docker import nginx

Answer: A

NEW QUESTION 102
A cloud engineer needs to remove all dangling images and delete all the images that do not have an associated container. Which of the following commands will
help to accomplish this task?

A. docker images prune -a
B. docker push images -a
C. docker rmi -a images

D. docker images rmi --all

Answer: A

NEW QUESTION 106
Which of the following commands will display the operating system?

A. uname -n
B. uname -s
C. uname -0
D. uname -m

Answer: C

NEW QUESTION 108
A cloud engineer needs to check the link status of a network interface named ethl in a Linux server. Which of the following commands can help to achieve the
goal?

A. ifconfig hw ethl
B. netstat -r ethl
C. ss -ti ethl

D. ip link show ethl

Answer: D

NEW QUESTION 112
A systems administrator made some unapproved changes prior to leaving the company. The newly hired administrator has been tasked with revealing the system
to a compliant state. Which of the following commands will list and remove the correspondent packages?

A. dnf list and dnf remove last

B. dnf remove and dnf check

C. dnf info and dnf upgrade

D. dnf history and dnf history undo last

Answer: D

NEW QUESTION 113

A Linux administrator wants to set the SUID of a file named dev_team.text with 744 access rights. Which of the following commands will achieve this goal?
A. chmod 4744 dev_team.txt

B. chmod 744 --setuid dev_team.txt

C. chmod -c 744 dev_team.txt

D. chmod -v 4744 --suid dev_team.txt

Answer: A
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NEW QUESTION 114

Junior system administrator had trouble installing and running an Apache web server on a Linux server. You have been tasked with installing the Apache web
server on the Linux server and resolving the issue that prevented the junior administrator from running Apache.

INSTRUCTIONS

Install Apache and start the service. Verify that the Apache service is running with the defaults. Typing “help” in the terminal will show a list of relevant event
commands.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.

CentOS Command Prompt

A. Mastered
B. Not Mastered

Answer: A

Explanation:

yum install httpd

systemctl --now enable httpd systemctl status httpd

netstat -tunlp | grep 80 pkill <processname> systemctl restart httpd systemctl status httpd

NEW QUESTION 115

As a Systems Administrator, to reduce disk space, you were tasked to create a shell script that does the following:
Add relevant content to /tmp/script.sh, so that it finds and compresses rotated files in /var/log without recursion.
INSTRUCTIONS

Fill the blanks to build a script that performs the actual compression of rotated log files.

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.

Snippets -

! /binSbash
gname: script.sh

find fvar/log -type ¥ -maxdepth 1 | grep » fimp/tempfile

filename $(cat

#f ilename
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Shippets

#1/bin/bash

Sname: script.sh

find fvar/log -type f -maxdepth 1 | grep | | > Stmpftempfile
\ |
v T P o e e _' | e e e e
: |
| I filename I ${cat ! )
| I I — ! I _.'
do
r_ _____ -1
| I $filename

- s s s ams

NEW QUESTION 118
A new file was added to a main Git repository. An administrator wants to synchronize a local copy with the contents of the main repository. Which of the following
commands should the administrator use for this task?

A. git reflog
B. git pull
C. qgit status
D. git push

Answer: B

NEW QUESTION 122

An administrator accidentally deleted the /boot/vmlinuz file and must resolve the issue before the server is rebooted. Which of the following commands should the
administrator use to identify the correct

version of this file?

A. rpm -ga | grep kernel; uname -a

B. yum -y update; shutdown -r now

C. cat /etc/centos-release; rpm -Uvh --nodeps
D. telinit 1; restorecon -Rv /boot

Answer: A

NEW QUESTION 124
A systems administrator made some changes in the ~/.bashrc file and added an alias command. When the administrator tried to use the alias command, it did not
work. Which of the following should be executed FIRST?

A. source ~/.bashrc
B. read ~/.bashrc
C. touch ~/.bashrc
D. echo ~/.bashrc

Answer: A

NEW QUESTION 127
A developer has been unable to remove a particular data folder that a team no longer uses. The developer escalated the issue to the systems administrator. The
following output was received:
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# rmdir data/

rmdir: failed to remove ‘data/': Operation not permitted

# rm -rf data/

rm: cannot remove ‘data': Operation not permitted

# mv data/ mydata

mv: cannot move ‘data/' to '‘mydata': Operation not permitted
# cd data/

# cat > test.txt

bash: test.txt: Permission denied

Which of the following commands can be used to resolve this issue?

A. chgrp -R 755 data/
B. chmod -R 777 data/
C. chattr -R -i data/

D. chown -R data/

Answer: C

NEW QUESTION 130
A systems administrator created a new Docker image called test. After building the image, the administrator forgot to version the release. Which of the following
will allow the administrator to assign the v1 version to the image?

A. docker image save test test:vl
B. docker image build test:vl

C. docker image tag test test:vl
D. docker image version test:vl

Answer: C

NEW QUESTION 132
A systems administrator installed a new software program on a Linux server. When the systems administrator tries to run the program, the following message
appears on the screen.

Hardware virtualization support is not available on this system.
Either is not present or disabled in the system's BIOS

Which of the following commands will allow the systems administrator to check whether the system supports virtualization?

A. dmidecode -s system-version

B. Iscpu

C. sysctl -a

D. cat /sys/device/system/cpu/possible

Answer: B

NEW QUESTION 133
A systems administrator is checking the system logs. The administrator wants to look at the last 20 lines of a log. Which of the following will execute the
command?

A. tail -v 20
B. tail -n 20
C. tail -c 20
D. tail -1 20

Answer: B

NEW QUESTION 134
A server is experiencing intermittent connection issues. Some connections to the Internet work as intended, but some fail as if there is no connectivity. The
systems administrator inspects the server configuration:
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Routing table:

default via £9.107.157.129 dev ens3 proto static metric 100

default via 10.0.5.1 dev ensll proto dhcp metric 101

10.0.0.0/1%6 dev snll proto kernel scope link src 10.0.6.225 metric 101
£9.107.157.128/26 wvia 89.107.157.129 dev ensd proto static metric 100

B5.107.157.128 dev ens3 proto static scope link metric 100
§9.107.157.160/29 dev ens3 proto kernel scope link src 89.107.157.161 metric 100

IP configuration:

ens3:

inet 89.107.157.161/29 brd £9.107.157.167 scope glokal neprefixroute ens3
ensll:

inet 10.0.6.225/16 brd 10.0.255.255 scope global noprefixroute dynamic ensll

ARP table:

Address Hwtype Hwaddress Flags Mask Iface
10.0.5.1 ether e4:d1:54:c4:75:ch C ensll
£9.107.157.125 ether S5c:5e:ab:01:85:ct c ens3
£9.107.157.162 ether 52:54:00:0l1:44:0a C ans3
10.0.255.1 ether 00:50:7f:e3:a3a:lc c ensll

fetc/resclv.cont:

Generated by NetworkHanager
search company.com
nameserver 10.0.5.1

Which of the following is MOST likely the cause of the issue?

A. An internal-only DNS server is configured.
B. The IP netmask is wrong for ens3.

C. Two default routes are configured.

D. The ARP table contains incorrect entries.

Answer: C

NEW QUESTION 138

A systems administrator wants to test the route between IP address 10.0.2.15 and IP address 192.168.1.40. Which of the following commands will accomplish this
task?

A. route -e get to 192.168.1.40 from 10.0.2.15
B. ip route get 192.163.1.40 from 10.0.2.15
C. ip route 192.169.1.40 to 10.0.2.15

D. route -n 192.168.1.40 from 10.0.2.15

Answer: B

NEW QUESTION 143
A new Linux systems administrator just generated a pair of SSH keys that should allow connection to the servers. Which of the following commands can be used
to copy a key file to remote servers? (Choose two.)

A. wget

B. ssh-keygen
C. ssh-keyscan
D. ssh-copy-id
E. ftpd

F. scp

Answer: DF

NEW QUESTION 147
Joe, a user, is unable to log in to the Linux system. Given the following output:

F grep “ce /eto/passwa /etc/shadew
etc/passwd:Joe:x:2001:1001:: 'nome/~oe:/bin/nologin
etc/shadow:joe: SE53uCwoqx98 76 GhgRJedlE587634534ve . :18883:0:9558598:7:::

Which of the following commands would resolve the issue?
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A. usermod -s /bin/bash joe
B. pam_tally2 -u joe -r

C. passwd -u joe

D. chage -E 90 joe

Answer: A

NEW QUESTION 151
A systems administrator is encountering performance issues. The administrator runs 3 commands with the following output

; " =t 3 - E 1 . . b er =
Ch ’ : 13 = 3 il o s o e e fa - 3

1) . 1 =g B ) L3 =4 QT . 2 . L

The Linux server has the following system properties CPU: 4 vCPU
Memory: 50GB
Which of the following accurately describes this situation?

A. The system is under CPU pressure and will require additional vCPUs
B. The system has been running for over a year and requires a reboot.
C. Too many users are currently logged in to the system

D. The system requires more memory

Answer: B

NEW QUESTION 155

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full XK0-005 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/XK0-005-exam-dumps.html (161 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

XK O0-005 Practice Exam Features:

* XKO0-005 Questions and Answers Updated Frequently
* XKO0-005 Practice Questions Verified by Expert Senior Certified Staff
* XK0-005 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* XKO0-005 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The XK0-005 Practice Test Here

Passing Certification Exams Made Easy visit - https://www.surepassexam.com


https://www.surepassexam.com/XK0-005-exam-dumps.html
http://www.tcpdf.org

